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テキスト ボックス
（包括的単価個別合意方式）



HOOflf =%

THEX Sy - TH - FERI - #5310 MoK TG B B G AT & G| T (R EM)
) 1R
= 1 93, 008, 508
BRET
= 1 68, 805, 652
HEBh bR L
= 1 67, 589, 200
[EEN
m2 7,070, 000 9.56 67, 589, 200
T K bR T
= 1 1,216, 452
[EEN
m2 53, 400 22.78 1,216, 452
Sk e
= 1 9,583, 710
CERET
= 1 9,583, 710
Jii e @A A AREL AR F & 500kg/
Jim2
m2 61, 000 12.57 766, 770
YAl PRAR+EE R
m2 122, 000 72.27 8, 816, 940
HEREAE L
= 1 608, 100
ARE D7 my) T
= 1 608, 100
IRIE 7wy s BT WERB7 ny) 7wy A (EER) 2
VATV YN 13
& 100 3,993 399, 300
T AR[E 67wy )i 2.5tLLF AR -HEAHT (GLAS) 5
& 4. 5kmPL T
& 100 2,088 208, 800
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THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & i T (R EM)
& HiE L
= 1 323, 850
OUEINAlE T
= 1 323, 850
FTALIE 20mASH Al & D P AR A
&) 3 107, 950 323, 850
iR T
= 1 10, 548, 607
Y UBE (=
= 1 10, 548, 607
IS
= 1 10, 548, 607
HHZK IRE R Pl A2 375
= 1 1,971, 347
HHZK IRE R Pl A2 3675
= 1 1,971, 347
HIZK RE R PR A 4R
= 1 1,971, 347
KBRS (EZE
= 1 1,167, 242
KBRS (EZE
= 1 445, 958
HEAKR o 7R HEE (W)
FRE 15 18, 339 275, 085
HEAK AR o 7 BElR 30m3/min
FRE 10 3,023 30, 230
HEAK AR o 7 Bl 60m3/min
FRE 5 6,121 30, 605
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THEX Sy - TH - FERI - #5310 H TG B B G AT & i T (R EM)
TR B9 B 12 (A)
FRE 10 3,619 36, 190
TR HSE AR 1. 2kw X 64T
FRE 10 3,063 30, 630
RE LR
= 1 43,218
AR
= 1 721, 284
A rifs
] 12 60, 107 721, 284
B T
= 1 93, 008, 508
BTl TE:
= 1 7, 458, 329
BTl TE:
= 1 30, 707
Htre m
= 1 30, 707
PREGHERER
= 1 30, 707
MR R (B L)
= 1 7,427,622
Wi
= 1 100, 466, 837
BTk X=giiv oy
= 1 35, 413, 180
T Ul
= 1 135, 880, 017
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HOOflf =%

THEX Sy - TH - FERI - #5310 b -4 TG B B G AT & G| T (R EM)
— e
= 1 21, 969, 983
TSk
= 1 157, 850, 000
THE B 2 %8
= 1 15, 785, 000
TG
= 1 173, 635, 000
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